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[16. a) As the liquid particles in the aerosal can gain energy they start to vibrate more vigorously

~|pressure (force per unit area). As the pressure inside the can far exceeds outside atmospheric

and ecape the forces holding them together and vaporise, gaining PE. As a gas they gain more
KE and strike the continer with greater force and more frequency resulting in an increase in the

pressure, eventually the can ruptures.

b) Diffusion of gases: Particles of gas are shooting in all directions, they collide with one another,
pushing the perfume particles in all directions until the paerfume particles occupy all available
space.

c) As the steam patrticles loose energy they start to move slower (lose KE) and although still
shooting in all directions when they collide, the force of attraction between the particles draws the
particles together as the KE is too little to overcome the force. The particles release PE as they

stick together becoming a liquid. They now can only slide over one another.
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16.  a) As the liquid particles in the aerosal can gain energy they start to vibrate more vigorously and ecape the forces holding them together and vaporise, gaining PE. As a gas they gain more KE and strike the continer with greater force and more frequency resulting in an increase in the pressure (force per unit area). As the pressure inside the can far exceeds outside atmospheric pressure, eventually the can ruptures.

b) Diffusion of gases: Particles of gas are shooting in all directions, they collide with one another, pushing the perfume particles in all directions until the paerfume particles occupy all available space. 

c) As the steam particles loose energy they start to move slower (lose KE) and although still shooting in all directions when they collide, the force of attraction between the particles draws the particles together as the KE is too little to overcome the force. The particles release PE as they stick together becoming a liquid.  They now can only slide over one another. 
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